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General Instructions : ;
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The question paper has 30 questions in all. All questions are compulsory.

Marks are indicated against each question.

Questions from serial number 1 to 8 are very short answer type questions. Each
question carries one mark.

Questions from serial number 9 to 20 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 21 to 28 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 29 and 30'are map questions of 3 marks each, from History
and = Geography respectively. After completion, attach the maps inside your
answer book.

T FER F HHeT 1 WEE S w17
Who proposed the concept of Social Contract ?
e 76 e vam | et §2

Which place does river Narmada rise from?
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Jammu and Kashmir, Punjab, Rajasthan and Guijarat share international boundary with which
country ?

R 1 B oE AFf g e srg g wviaia Sl | o E2

Which landform of India is composed of old crystalline igneous and metamorphic rocks ?
Heam a # T W TEE, W9, R ) 9a 5 e s e @ maa
SR & ?

Each and every document presented and every word spoken in the Constituent Assembly has
been recorded and preserved. What is such record called?

T F TE T F o @ uieie H aifeeRE ¥ wewi it ven fee wda ey

How many members did solidarity have within a year of formation in Poland ?

-9 O <@ few 2w @ wafua &2

To which country is ZANU-PF party asscciated with ?

A T TEEE QIR H T S T w0 9 I BE-60 2

Which state in India has the highest consumption of chemical fertilizers ?

et gur ¥ afensd ¥ S 8 Fifdeit TR g e fg e e dim Rl @ s
wifag |

Mention three reforms introduced by the Revolutionary Government to improve the
condition of women in French Society.

TRET ST el 4 7 TR HA
Liberals were not Democrats. Explain.
I{¥ET/ OR
TdtEre % vER & fag Hife @ @ F) e ™ ? wWe sk
How was the media used to propagate Nazism ? Explain
wrifore il & ferg st st e wer foriem 4t ? =arem wifsrg)
How was French Revolution responsible for the societal changes ? Explain.
3gqar/ OR
aufa @t wfy s & dril % R gt Sl STiSHe o4 ot ? SIS A HRT W wifg

Why was the ‘Treaty of Versailles’ harsh and humiliating to people of Germany ? Explain any
three reasons.

WRa & I Herl # e faend ==l wg SR €2

Why are large numbers of meanders found in the Northern plains of India ?

yra =t feufa ik sreR =1 @ fageil § i wifteg)

Describe the location and size of India in three points.

ferera % welal =1 gl i ferdiwansdl 1 9ol Hifsg)

Describe any three features of Himalayan Mountains. '

3 et qen vl e § e 3 S e i

Differentiate between fresh water lakes and salt water lakes with examples of each.

“ el W w5 v, SR 1 e ok ge s R Rl R el 1 TR Fif
o 3y 39 w4 P @1

“The preamble of Indian constitution provides a Philosophy and Values of constitution.”
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Explain any three values that you derive from it.

G ¥ e IH & faes #t T gud e & gwad & fae swert AR iR Rl @
g Fifteg |

Examine any three reasons responsible for the success of the second strike against the
Communist Rule in Poland.

U Aed TER S WER T F TER A 9l sl & fag 9g @ o8 7@ €' @ A
59§ wena €2 @ o eet wE i

‘Despite being a better form of government, democracy does not prove a magical solution for
all problems.” Do you agree 7 Explain with any three arguments.

wra waE 7§ FEY ¥ T d et B e i R wfrss A o= vftom e R w

Explain any three ways of investment in Human resource that can give high returns in future
2

FEA whwan § wEa o # yfive @ 9ol st Q) el W m sar S g wee $5
TorE § QYR SR S 9§

Describe the role of human capital in the production process. Name two investment that can
improve the quality of human capital.

¥ uRfeufdil @t we Fifa SR T8 XvI ﬁmﬁ%mwﬁ%mﬁamMI
Explain the circumstances which compelled Louis XVI to raise taxes in France.
1917 %1 STaRER Hita & o1¢ o g 6 3 frg e f6= die seemEl #Y S9eR i
Highlight any five changes made by Lenin in Russia after October Revolution of 1917.

3qar/ OR
afeaell & W feem # femum w T faw e W il W we
I |
Explain Hitler’s ideology regarding women and his policy towards them.
AT FEEIE 1 FUMA Hifog |
Describe the Indian desert.
ZfEror spfiveT e AT AT SAEedT ¥ FiHaitaT U agAeelt F A Y RAeiioet 9T F W -
F #aw A afaen A s At # g eng £
Explain with five facts the transition from Apartheid to democracy and multi-racial
government take place in South Africa.
fast ud diefe % orfos Semhe % S § SIUR W 9 wiwad & a) A @ fred feeed €2
On the basis of the case studies of Chile and Poland, what do you infer about democracy ?
YR § T TEe & Ay sevas @ gladeil & avik S
Explain the need of health care facilities to have healthy population in India.
el =R R Ffy fraeil & Tm fafay a9 37 wifa % fag = = geme )
Name any four non-farm activities. Suggest any three measures to be taken to promote them.
"7fe Y AHa Afed w1 F fog orife w9 R sem @ Q98 U SAREal 1 TR "l S
&3 i % fova g =t Gnen = A SR R ) I9 FY & M A A e i ¥y @
=1 Yt 1 W Fifaw

“When the skilled manpower is not physically fit for work, there will be loss of national productivity
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and brings the situation of global burden of disease." In the light of this statement explain the role of
health in human capital formation.

fa ge wiE & YamEta § A, B 3R C i @ fafiw 62 o E) AR QT See & sR w3
& Tl @ geeife SR aEfas | fafen el 3% |8 ™ fafey

(A) a0 WiE F & S WE e § sl an

(B) WA H @wel ¥ ywifaa &

(€) 9Rs & 9% Tl 1 @ %

Mz :  Preafalen wv Faw ghe el wigfdr & fag ¥

(29.1) 9 HNR ¥ Walya W9 & T I & T fafad)

(29.2) Wi ¥ 99 &1 @6 | wwfoa &l &% F TW fafed

(293) wiE & IW A frum wq@ wRE & &% w1 W fafed

Three items A, B and C are shown in the given outline map of France. Identify these items
with the help of following information and write their correct names on the lines marked on
the map.

(A) A region in northern France not affected by the great fear.

(B)  The region not affected by the great fear

(C)  The epicentre of main panic movement

Note : The following questions are for the visually impaired candidates only:

(29.1) Name any one port of France which was related to slave trade.

(29.2) Name the Eastern region of France which was not affected by the great fear

(29.3) Name the Northern epicentre of main panic movement of France.
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